"%] LIMING
FIBA hE

R B B SR A

% GEAR MOTOR

60W> 0.1kW ~ 2.2kW



)R b R 2R 1 2 5 E

LIMING REDUCERS

INBU e bRl 2R 1% 2 51 SMALL GEAR REDUCER

’;J.)QO @,-ﬁ:@)
“ﬁ@!’b <‘§E=-'

# : ZAEEL#M A5 (SK-D)
NOTE:There are also solid shaft series(SK-D)

/)\BY b3 85 i 3R 1% %2 5l SMALL WORM REDUCER

(Ei CEi@ ¢ = = l .V

P "'




SMALL GEAR REDUCER SERIES

I o 25 i 008 i el 2R
Hollow Output Shaft Worm Gear Reducer

B MODEL : SEOM

W )
- 1=

[P
S
H 7L

OUTPUT BORE

unit: mm
[ mg L $ 737l Output Bore W%fht

Horse Power Model D U )
1/4HP (0.2kW) 50 1/5~1/60 50 | 98 | 90 | 115 | 65 185|335 | 115 137 | M8x16 6 20 22.8 13
1/2HP (0.4KW) 50 1/5~1/40(1/50~1/60) 50 | 98 90 | 115 | 65 195 | 340 | 121 151 | M8x16 6 20 22.8 15

60 1/5~1/60 55 | 108 100 | 125 | 75 215 | 355 | 121 151 | M10x18 8 25 28.3 18
1HP (0.75KW) 60 (1/5~1/30) 55 | 108 100 | 125 | 75 220 | 370 | 128 163 | M10x18 8 25 28.3 20

70 1/5~1/40(1/50~1/60) 65 | 128 125 | 158 | 85 240 | 405 | 128 163 | M10x18 8 30 33.3 24

I 757K B 008 i 7 22 1

Waterproof Worm Gear Reducer

B MODEL : SEOM i

4M waterproof

Wjﬁﬁ I

Di}%
g ©
OUTPUT BORE

U4-K
oP
unit: mm
=] 4717, Output Bore
Horse Power
1/2HP (0.4kW) 50 1/5~1/40(1/50~1/60) 50 107 | 90 | 115 65 | 190 | 315 | 150 | M6 | 76 | M8x16 8 25 28.5 15
1HP (0.75kW) 60 (1/5~1/30) 50 110 | 100 | 125 75 | 210 | 350 | 150 | M8 | 92 | M10x18 8 30 33.5 20

& LIMING 11



=B

I /) B 03 i O 2R
Hollow Output Shaft Worm Gear Reducer

B MODEL : SNEOM

M

L A

>
hSY ®
T
>
Y
HIIHL
OUTPUT BORE 16-Z

unit: mm
#7717, Output Bore BB
Weight
(KG)

BN

Horse Power

1/8HP (0.1kW) 30 1/5~1/40(1/50~1/60) | 2 | 45| 60 | 55 | 80 | 40 [132| 55 |265 108 123| M6 | 65 | M6 5 14 16.3 5
1/4HP (0.2kW) 30 1/5~1/20(1/30~1/60) | 2 |45 | 60 | 55 | 80 | 40 [139| 55 |275 115 137 | M6 | 65 | M6 5 14 16.3 5.5
1/8HP (0.1kW) 40 1/5~1/60 2 |60|80| 70 |102| 50 |155| 60 | 295 108 123| M6 | 77 M8 6 20 22.8 6.5
1/4HP (0.2kW) 40 1/5~1/40(1/50~1/60) | 2 | 60| 80 | 70 |102| 50 |160| 60 | 305 115 137| M6 | 77 M8 6 20 22.8
1/2HP (0.4kW) 40 1/5~1/10(1/20~1/30) | 2 | 60| 80 | 70 [102| 50 |170| 60 |310 121 151 M6 | 77 M8 6 20 22.8 9
1/4HP (0.2kW) 50 1/5~1/40(1/50~1/60) | 3 | 70| 94 | 80 [120| 60 | 180| 70 (325 115 137| M6 | 95 M10 8 25 28.3 9.5
1/2HP (0.4kW) 50 1/5~1/30(1/40~1/60) | 3 | 70| 94 | 80 |120| 60 | 190| 70 (330 121 151| M6 | 95 M10 8 25 28.3 10.5
1HP (0.75kW) 50 1/5(1/10~1/20) 3 | 70| 94 | 80 [120| 60 | 195| 70 |350 128 163| M6 | 95 M10 8 25 28.3 13.5
1/2HP (0.4kW) 60 1/5~1/60 3 | 85|102/100|146| 75 |215| 80 | 355 121 151 M8 | 120 M10 8 25 28.3 12,5
1HP (0.75kW) 60 (1/5~1/40) 3 | 85|102|100(146| 75 |220| 80 |375 128| 163| M8 |120 M10 8 25 28.3 15.5
1/2HP (0.4kW) 70 1/5~1/60 3 190|118|120(170| 85 |235| 90 (385 121/ 151| M10|140 M10 8 30 33.3 17
1HP (0.75kW) 70 1/5~1/40(1/50~1/60) | 3 | 90 | 118|120/ 170| 85 |240| 90 | 405 128 163| M10| 140 M10 8 30 33.3 20
2HP (1.5kW) 70 1/5~1/10(1/15~1/30) | 3 | 90 | 118|120|170| 85 |250| 90 | 440 138 181 M10| 140 M10 8 30 33.3 25

E: NOTE:

1.RP () NEFHRERREEEER - 1.Values shown in paranthesis () are used for light loading.

2. RPEELES=MH 4P FERE HEEM RE-ER- 2.Weights shown in the above chart arebesed on 3-phae 4P motors,weights for single phase, brake, DC, or
BHREFESERA] - special motor shall be referred to specific values.

3. XFLAHFU=HEERT HERSHKBEES:] - 3.Values shown in 'L’ column are based on 3-phase motor, other special motor Refer to specific motor refet to

4. MBRHFERE FRATER - specific values.

5 U FHERFEE VLB TEM- 4.For special motor specifications, please contact our business.

5.Above specifications are subject to change without prior notice.

12



